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SECTION A – (10 × 2 = 20 marks)
Answer any TEN questions

1. Define financial management.
2. What is meant by financial planning?
3. What is Capital Structure?
4. What is Leverage?
5. What is cost of Capital?
6. What is working capital?
7. Land & Building: `1, 60, 000, Plant: `1, 40, 000, Stock: `60, 000, 
            Drs: `80, 000, Cash: ` 80, 000, Creditors: `30, 000, Bills Payable: `20, 000.
            Calculate Working Capital.
8. A firm intends to issue 1000 10% debentures at `100 each. What is the cost of capital if the firm desires to sell at 5% premium? The tax rate applicable to the profits of the company is 50%
9. The equity shares of a company are traded in the market at `135/- each. The expected dividend per share next year is `18/- and expected to grow at 6% per year. Determine the cost of equity capital.
10. What is EBIT?
11. State the salient features of Financing and Investment decisions.
12. What do you mean by retained earnings?
SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions
13. The earnings per share of a company are `10 and the rate of capitalization applicable to   it is 10%. The company has before it the options of adopting a payout of 20% or 40% or 80%. Using Walters formula  calculate the market value of the company’s share if the productivity of the retained earnings is 20%.
14. A firm has a sales of `20,00,000. Variable cost is `14,00,000 and fixed cost `4,00,000 and the debt is `10,00,000 at 10% rate of interest. Find out the leverages.
15. From the following information calculate the average amount of working capital 
required.
Per annum
Stock of finished goods and work in programs 10,000
Stock of stores and materials 8,000
Average credit to local customers 2 weeks 1,04,000
Average credit to outside customers 6 weeks 3,12,000
Credit available for payment of purchases 4 weeks 78,000
Credit available for payment of purchases 2 weeks 2,00,000
Add 10% for contingencies.
16. The following information is available in respect of a firm. A company has earnings before interest and taxes of `1,00,000. It expects a return an investment at a rate of 12.5%. You are required to find out the total value of the firm according to the M.M. Theory.
17.  (
[P.T.O.]
)A firm issues debentures of `1, 00,000 and realizes `98,000 after allowing 2% commission to brokers. The debentures carry an interest rate of 10%. The debentures are due for maturity at the end of 10th year. You are required to calculate the effective cost of debt before tax.
18. Given the following information you are required to compute 
(a) capitalization and (b) capital structure.
Liabilities in              		      `
Equity share capital 		  10,00,000
Preference share capita	  l 5,00,000
Long term loans and debentures 2,00,000
Retained earnings		    6,00,000
Capital surplus 		       50,000
Current liabilities                        1,50,000
     Total:                                      25, 00, 000
19. What are the problems in determining cost of capital?

SECTION C – (2 × 15 = 30 marks)
Answer any TWO questions 
20. Bharathi Ltd. expects an annual EBIT of Rs. 1,00,000. The company has `4,00,000 in 10% debentures. The capitalisation rate is 12.5%. The company proposes to issue additional equity shares of `1,00,000 and use the proceeds for redemption of debentures of `1,00,000.
Calculate the value of firm (V) and the overall cost of capital (K0).
21. Prepare an estimate of working capital requirement from the following information.
Projected annual sales 2,00,000 units.
Selling price `8 per unit.
Average credit period allowed to customers 6 weeks.
Average credit period allowed to suppliers 4 weeks.
Average stock holding 10 weeks.
Allow 10% for contingencies.
22. Following are the details regarding three companies.
A Ltd B Ltd C Ltd
r=15% r=10% r=8%
Ke=10% Ke=10% Ke=10%
E=Rs.10 E=Rs.10 E=Rs.10
Calculate the value of equity share of each of these companies under Walters approach when
dividend pay-out ratio is
(a) 0%
(b) 50%
(c) 60%
(d) 100%
23. From the following capital structure of a company, compute the overall cost of capital using (a) Book Value weights and (b) Market Value Weights
                                              Book Value                                              Market Value
                                          `                                                                  `
Equity share Capital                 45,000                                                        90,000
(` 10 per share)
Retained earnings                     15,000                   				—
Preference share capital           10,000                                                        10,000
Debentures                               30,000                                                        30,000                                    
The after tax cost of different sources of finance is as follows:
Equity share Capital : 		14%
Retained earnings :		13%
Preference share Capital:        10%
Debentures:			5%
—————
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